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Catastrophe bonds and ILS issuance by trigger and by year =

Catastrophe bond & ILS risk capital outstanding by trigger type
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* Lee and Yu(2002)
* Hofer(2020)
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Equityy = vy — lossy + injecty — D — (1 — 1) * [Cgepe + parvaluey_q * (rpqe — R) * At]

Debty = D + Cyept

Investprofitiys, = parvaluey_; * (reqe — R) * At
Investprofitsva = parvaluey_q1 * R * At + parvaluey_; — injecty
Equityy + Debty + Investprofiti,s, + Investprofitsva

= vy — lossy + T * (Cgept + parvaluey_q * (r.qr — R) * At) + parvaluey_; * (1 + R * At)

Bfs — HpFRIE ML A

VN = VN — lOSSN('/‘i.?t'E‘JD )

TBy = T * (Cgepr + parvaluey_q * (roqr — R) * At)

BCN S O

LCN - O

Assetspy, = parvaluey_; * (1+R*A)CGLF # » § HiAFinjecty 53 SPV)
VN + TBN + BCN + LCN + Assetsva

— lossy + T * (Cyepr + parvaluey_q * (roqe — R) * At) + parvaluey_; * (1 + R = At) 21
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Equityy_, = Back(Equityy) = Back(vy — lossy + injecty — D — (1 — 1) * [Cyepr + parvaluey_q * (f.qr — R) * At])
Deth_1 = Back(Deth) + Cdebt = Back(D + Cdebt) + Cdebt

Investprofiting,_, = Back(lnvestprofitinsN) + parvaluey_, * (roq¢ — R) * At

= Back(parvaluey_; * (r.qt — R) * At) + parvaluey_; * (reat — R) * At

Investprofitsva_l = Back (Investprofitsva) + parvaluey_, * R x At

= Back(parvaluey_; * R * At + parvaluey_, — injecty) + parvaluey_, * R* t

Equityy_, + Debty_q + Investprofiting,_, + InvestprofitSva_1

= Back(vy — lossy + T * (Cgept + parvaluey_q * (roqr — R) * At) + parvaluey_; * (1 + R * At)) + Cgyep: + parvaluey_,
* (reat—R) * At + parvaluey_, * R x At
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VN—l = VNn-—1— lOS.S‘I\]_l('/‘.:L?F"é‘lzl )

TBy_1 = Back(TBy) + T * (Cgep: + parvaluey_, * (r.q: — R) * At)

= Back(t * (Cgeps + parvaluey_q * (roqe — R) * At) )+ T * (Cyeopr + parvaluey_, * (r.q: — R) * At)
BCN_]_ = BaCk(BCN) =0
LCN_]_ = BaCk(LCN) =0

Asset&sp,,lv_1 = Back (Assetsva) + injecty_q + parvaluey_, * (R * At) = Back(parvalue,v_l * (1 +R* At)) + injecty_q +

parvaluey_, * (R* At) (LT » & * 5N éhAsset,,, Mbackward inductionp » d 5 Ngp eiff @ e At FN-LF P F - 5
P EERFN-1B L TR YY)
Vn-1+TBy_1+BCy_1 + LCy_1 + AssetSPUN—l

= V1 — lossy_1 + Back(t * (Cyepr + parvaluey_q * reqe * At + parvlauey_,) + injecty_4 + T

% (Cyepr + parvaluey_, * (r.q:—R) * At) + parvaluey_, * R * At
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£ : Equityy_, + Debty_, + Investprofit;

insy—1 T InvestprofitSva_1

= Back(vy — lossy) + Back(t * (Cgepr + parvaluey_q * (roqr — R) * At) + parvaluey_, * (1 + R * At)) + Cypp; + parvaluey_, * (reae — R) * At

+ parvaluey_, * R * At

AT Vo1 + TBy-1 + BCy_1 + LCy—q + Assetspy,

= V1 — lossy_q + Back(t * (Cyepe + parvaluey_q * (toqr — R) * At) + parviauey_q * (1 + R * At)) + injecty_q + T * (Cyope + parvaluey_, *
Tear * At)) + parvaluey_, * R * At
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FERKBLF AT D E o R FFAssetgy,, f 4e v % N#P 3 Finjecty backward inductionfs e0if & 0 4 § i 4%
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% 3% Back(Vy — Iy) + Back(t * (Cgep; + parvaluey_q * (rq.q; — R) * At) + parvaluey_, * R * At + parvaluey_;) +Cgept +
parvaluey_, * (r.qr — R) * At+parvaluey_, * R * At

3 — Iy_q1tinjecty_1 + Back(t * (Cyeps + parvaluey_q * (rq.q:—R) * At) + parvaluey_4 * R * At + parvaluey_; —

= Vn-1
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o F S5 1997
#RLI 10- KE?H‘J?

£ X %#kc ;. @ *RLI
1997 & P CatEPut

B
< e

W

e Sy EAL

7 905,764,000
2P AR B 645,400,000
#0 RTINS (e 7,800,000
K S 3 T 27 fgh (%) 27.1
C_rate o2 F A5 (%) 6
m o 7 (A ) E AT b5 (%) 0.18
o o P F AR R (%) 5
T IEpp (&) 3
L E 3R A g P E(trigger level) 216,000,000
LRSS g Parvalue FEXREXLEAE 50,000,000
p CHEE WA B RGLE &%) 50,000,000
C B _rate SN f%{ X f%{ i % (%) 9
A Poisson:f #% 3¢ B %-#c 0.58
s Zeta A ek 48k 1.08
14 ¥ 47 % (Recovery rate) 0.6
XS
r A B & 15 (%) 5
N # 60
h NE A 18,000,000
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Catbondd tussescn s

%ﬁ/ 5| 4y | Total Total debt -7 Attachment D/V Par/V
asset probability{attachment
point)
California 2023 8.34b T E 1.94%(classB) 3.51%(classE) 0.86 425m 0.051
Earthquake
Authority
Palomar Specialty 2023 0.926b 0.531b EEHE 650m(classB)(Loss/V=0.7) 0.573 200m 0.216
Insurance
Company
Fidelis Insurance 2022  8.07b 6.27b Ie=EHE  411% 0.777 80m 0.01
Prologis 2021  58.49b 20.74b EEHE  1.559% 0.355 95m 0.0016
GeoVera 2022 1.1b 0.83b =EHE 675m(classA)(Loss/V=0.61) 0.755 150m 0.136
250m(classB)(Loss/\V=0.23)
Hannover Ruck SE 2022 25.75b 16.85h =EHE 0.66% 0.6545 150m 0.2111
Alphabet Inc 2021 365.3b 109.2b HOM#E 1.75b(Loss/V=0.004) 0.299 275.5m 0.0007
N AL /, ;‘7 = L = 2z, ) o = L ;l 2 g 2. 2H 7 NS 2 —
o EE LG 5 A0.0 1 o AEFT AL 5 R0.0540.2 BFELHAET A BT

o

A NP ARt o d 30 E Ak £ X § g d AP Rdp Dlattachment point o @ 2 attachment
probability iz K F A F e df 4 A £ F > L3I0 AP a2 4 Jattachment point# attachment

probability 2z R enff i% o
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Catbond"? ) [
SAs -_--

Safepoint 2019  2.05b 1.17b EZEESE 057 0.04b 0.019 0.027b

Ins

Allstate 2019 117.14b 85.934b EEFE 073 0.3b 0.003 2.75b 0.02
Insurance 2019 29.29b 22.576b HEREE 077 0.075b 0.003 0.528b 0.02
Australia

Group

PG&E 2018 87.91b 64.09b ek 0.73 0.2b 0.002 1.25b 0.01
Corporatio

ns

Safepoint 2016 1.76b 1.09b EZFEEE 062 0.075b 0.043 0.075b 0.17
Ins

Allstate(A) 2021 99.44b 74.31b EFEFRE 075 0.25b 0.003 3.75b 0.04
Allstate(B) 2021 99.44b 74.31b EEFE 075 0.15b 0.002 3.75b 0.04
Sempra 2021 44.63b 44.63b ek 0.62 0.045b 0.001 1.36b 0.02
Energy(A)

Sempra 2021 44.63b 44.63b TIEF k. 0.61 0.135h 0.002 0.21b 0.02
Energy(B)

AIF T A AEREE RNE N > T UEREGPETA N WP/ A
0.01~0. 22 FY » F]pb 3% (v it b 3 A 22 (7 A 47

30



CatEPut® o

AT 5y | AFIERY | GfED |WBREE (PHE  |D/V |Par |Par/V |Loss/V
RLI 1996 0.906b 0.645b =E#E 0.216b 0.71 0.05b 0.55 0.24
Horace 1999 4.254b 3.854b =K% 0.065b 091 0.1b 0.024 0.02
Mann

LaSalle Re 1997 0.686b 0.168b =5 0.22b 0.146 0.1b 0.146 0.32
Trenwick 2001 4.929b 4.287b &% 0.22b 0.011 0.055b 0.011 0.04

CatEPut® o] ¥ ernk £ 8.4 f G % 22 0 Bcid 3 = o> 12 % 3045 5 27 Catbond v #ic
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FlR BB DT € Y oA K& FR ;i\ & PR T MR M 000V EIFR0.1) 5 2365% 24.39% 26.56%  20.36%  3191%
g, & HES000 BV BIET0.2) 10 1520%  16.10%  17.80%  19.36%  20.71%|
« AE10.8-0.9 2P HARFFLFEF L F i H
BRFLP AT i A s &0 - md EAAFH0.600 14 305
LFE P fE10E HBR A £ T f% 4, & "h’fﬁﬁ A q T ehd parvalue=S0008% BePViAmESIet N R TS S E R
B V- MPEF P EEATR S, FEEATDp B DAV
Rr-RIEPALF X > EFFHERS > 27 F L Ha5 1B BT R LR Loss/V 0.5 06 07
FAFARE o Flt pigs R4 ZeniEd T IR0 4E 450, 83 SRR
0.9 R L FFrm A dm g o 180028/ GIZR20.02) 1 51.34% 65.85%
I600FR/V EIFR0.04) 2 30.40%  S0.69%  48.11%
54008V EIFR20.06) 3 33.38%  4222% 387T%
T200ER/V EIFR:0.08) 4 20.39%  36.45%  32.45%
Q000ER/V (BIERR0.1) 5 26.42%  32.10%  27.68%
HES000E AV HI5140.2) 10 17.36%  13.10%  13.48%
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parvalue=50005 HoPVifmisirlnE \ ERERGEE
D/v

e R EELLELoss/V 0.5 0.6 0.7 0.8 0.9

EIfEE
1800 A EUSERA0.02) 1 3065% S442%
3600E EUSER.0H 2 N84%  4185% 46.18%  46.36% 46 44%
SAO0ERAV (EISER0.06) 3 2641%  35.37%  32.19%  32830%  32.25%
T200EEAV EIEERN0.08) 4 2342%  097%  I285% L% 3TIN
QOO0 EIERN.L 5 21.20%  O750%  2880% 2391%  28.53%
HESOOUE EIER0D 10 1600% 17.13%  17.00%
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parvalue=S000 8 R il e e N
D/v
18 B T B LR Loss/V 0.5 0.6 0.7 0.8 0.9
SHHEE(
1800ERN EUFRN.02) 1 5.58%  2.60% -13.42% 040% 5.76%
I600ERNV EUSER0.04) 2 444%  5.04%  785%  438% 0.26%
S0 EUFERN0.06) 3 360%  -467%  -5.00%  -198% 2.26%
T2O0EN EUSERN0.08) 4 2.03% -384%  240% 053%  3.00%
QODUER RN D 5 236% -321% 230%  045% 3.33%
HES000EVEIFR0.2) 10 0.52%  -0.89% 067% 236%  520%
parvalue=50005 HSPViEgiaEigR LRl A\ 3 SRR
D/v
PR R L L oss/V 0.5 0.6 0.7 0.3 0.9
SHEEY

1800EY GIFER0.02) 1 11.69% 12.57%  4.18% -15.03% -16.19%
IE00EN EIFER0.04) ) 2.96%  2.83%  1.93% -13.15% -10.78%
S EUERN0.06) 3 BO7%  B.E5% 0.58% -1247% 0.55%
TO0EN EUERN0.08) 4 591%  549% 040% -12.18%  -0.25%
OODUEEN IR0 5 5.12%  450% -1.18%  -12.05% 0.54%
B0V EIEEH0.2) 100 268% L11%  364%  1242% -1L.08%




’;5- ‘__T ﬁL(WL BHFEALEER)

e MAEAFTALE2IAFTARLE FEFAF T R EREE RS parvalue=S0007% ISPV ER S R G S B S
D/V
tE L B E R bR lloss/V 0.5 0.6 0.7 08 0.9
HFEE (T
« & I % L A o A, RN A R T 25y 18008/ (BI5H10.02) 1 4247% 4205% 3946% 31.92%  17.78%
* | ® F]& }:: Bi:/\]% N o =P AT HEERGRE 36008V (EI5H0.04) 2 3460% 3431% 3267% 2637%  15.13%
B ) Aol it d A 557 S400%/V (EIZEH40.06) 3 2003% 2882% 2752% 2225%  12.58%
T2O0E/V (I H0.08) 4 2472% 2451% 2350% 19.00%  10.39%
9000V (BYZEHA0.1) 5 2122% 21.04% 20.19% 1622%  867%
L {BB000E/V GIZH0.2) 10 9.90%  9.79%  943%  661%  7.19%
s e ® v L, parvalue=5000%% BHPVREfE R M ER B A Sn B A
« DT UEEPRE LFED F UL RFTA L X R IR % oy
tE L B E R bR lloss/V 0.5 0.6 0.7 08 0.9
parvalue=5000:8 H PV IR EHIE A S BT B (- S
DNV 18008/V(EYSF40.02) 1 558%  860% 1342%  049%  5.76%
B 2 B R b L osadV 0.5 0.6 0.7 0.8 0.9 3600&/VEYSERY0.04) 2 444%  5904%  785% 4.38%  026%
. 5400V (FIEEHA0.06) 3 369% A67%  5.00% 1.08%  226%
EE T200EV (FIZEF0.08) 4 293%  384%  349%  053%  3.00%
1800V (49ZH0.02) 1 20.13% 1880% 1421%  4.13%  8.23% 000 BV (KI5H10.1) E s . R
360085V EIER0.00) 2 1857% 17.54% 1436% 601%  0.80% L [B8000 BV (B9 5 H0.2) 5 oo P o soan o
540051V (EIE540.06) 3 1607% 1520% 1264%  563%  -1.19% Parvalue 500085 BT E AT R s B
T00 &V (GIEH0.08) 1 1384% 1312% 1087%  483% 172%
000V (EIZR0.1) 5 11.90% 11.24%  925%  386% 172% L D/V
1 {8000V (U5 740.2) 10 510%  460%  3.32%  0.04%  0.80% RSB et flloss/V 3 0.5 06 0.7 0.8 0.9
parvalue=50008 Hpv ISR EEIE S A S BRI -(REE HFEF(L
- 18008/ (EI35740.02) 1 22.34% 2324% 2524% 27.78%  9.55%
BB EER FLossV 0.5 0.6 0.7 0.3 0.9 3600E/VIEVEER0.04) 2 16.12% 1676% 1832% 20.35% 14.33%
wEE SA00EYV (EY=F1A0.06) 3 1296% 13.53% 1488% 16.62% 13.77%
- T200E/V (BIZH40.08) 4 1087% 1139% 1263% 14.17% 12.11%
16008V (4955 500.02) 1 3680% 50.74% 5288% 4141% 2354% 000V (ETZEM0.1) E 9erm  oEn 10000 195D 10407
3600V EIEF0.00) 2 3025% 4024% 40.52% 3075%  14.87% L EE000 8V (S92 520 2) T Aes BT Gl Goedh | meen
54008V (GI5540.06) 3 2534% 3348% 3261% 2423%  10.32%
T00EIV EIEF0.08) 4 2178% 28.35% 2699% 19.54%  7.29%
000V (EIZH0.1) 5 1886% 2425% 2250% 1576%  529%
L{E8000 B/ V(EVHER0.2) 9.33% 1068% 877%  425%  190%
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parvalue=50008 HPV i w BT E A RS B E - 8D
D/V
e B (U EELL FlLoss/v 0.5 06 07 08 0.9
FIEEL
1800&VEYEERN.02) 1 2190% 2300% 24.00% 17.78%  1267%
3008V ETZER0.040 2 1984% Z2154% 22.16% 1561% 4 78%
SA00EV (EYSER0.06) 3 17.32% 18381% 1975% 1360% 1.44%
TEO0E (BT RN0.08) 4 1500%  16.39% 1745% 1188% 0.24%
SN0V (BYZER0.0L) 5 1298% 14.32% 15.37% 1020%  -1.15%
L{ER000 BV IETERN2) 10 5.94% 65.80% 725% 1.81% 0.19%
parvalue=500018 Herv A m RS A BB B E 15D
DIV
fa B EELEFILoss/V 0.5 0.6 0.7 0.8 0.9
FITEEELY
1300 &V EYSERN.02) 1 067 28.72% 31.56%  36024% 25.64%
3e00EE V(IR0 2 2599% 24904% 28.12% 3097% 18.63%
SA00EV(EYSERY0.06) 3 2201% 21.52% 25.01% 2744% 1544%
TEO0E V(B RN0.08) 4 1877% 1868% 22.29% 2469% 1267%
ON00EV (BRI 5 le0e%  1624% 1991% 2223% 10.54%
L {ER000 &V EIER0.2) 7.15% 8.15% 1100% 10.58% 4 55%

parvalue =S000 75 HSPV BRI B A S ST R
D/
B B v EELEFILoss/V 0.5 0.6 0.7 0.8 0.9
HIMERENT
1800 & VIEYESERM0.02) 1 42.36%  4128% 35.74% 2121% 9.A5%
2E00EVETEERMD.0D 2 34.55%  2377% 30.05% 1782% 7.54%
SA00EV EYEERM0.06) 3 28.08% 2837% 25.50%  1497% 5.80%
200 &V (BT EER0.08) 4 24.68% 24.16% 21.839% 1251% 3.42%
SO00E VIEYSERN.1L 5 21.19% 2074% 18.73%  10.18% 1.00%
1 {8000 & VIEYEERN0.2D 10 9.83% 9.26% 7.35% -1.833% 5.53%
parvalue =S000 75 HSPV I FEE IR AL BAPRE A SR B R
D/
e B B E LR {FIL osad 0.5 0.6 0.7 0.8 0.9
EIFERE AT
1800 &V IEYSERM0.02) 1 11.69%  12.57% 4.18% -15.03% -16.19%
2E00EVETEERMD.0D 2 8.56% 8.83% 1.92% -13.15% -10.78%
SAO0ERVIEYEERM0.06) 3 6.97% 6.85% 0.58% -1247% 9.55%
200 &V (BT EER0.08) 4 5.91% 5.49%, 0D40%  -12.18% 9.25%
SO00E VIEYSERN.1L 5 5.12% 4. 50% -1.18%  -12.05% 9,54 %
1 {8000 & VIEYEERN0.2D 10 2.68% 1.11% 3.64% -1242% -11.08%
parvalue =S000 75 Hepv-EHEEERL A BIER A ~S S Y
DV
e B B E LR {FIL osad 0.5 0.6 0.7 0.8 0.9
EIFERE AT
1800 & VIEYESERM0.02) 1 20.46%  17.38% 11.65% 3.42% 3.22%
2E00EVEYEERN0.0D z 14.71%  12.23% 7.509% 2.20% 3.56%
SA00EV EYEERM0.06) 3 11.66% 9.56% 5.85% 128% 4. A5%
200 &V (B EER0.08) 4 9.68% TP 4. A4, 0.63% 3.76%
SO00E WV (EYSERN.L 5 8.20% 6.43% 3.37% £.02% 2.15%
1 {E8000 & VIEYSER0.2D 10 3.89% 2A6% 0.10% -3.65% 5.33%
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parvalue=0000%% HEPV A ithiE SR L EE EERtE A Sr SIS R
DV
fet By EELL FILoss/V 0.5 0.6 0.7 0.8 0.9
HIERN
1800EV (EYEERN0.02) 1 3338% 3320% 32.35% 27.04%  13.80%
3600EYV (EYERN.04 2 27.70% ZTR2%  26090%  23.12%  11.31%
SA00EV (EYEERN.06) 3 2341% 2323% 2263% 19.30% 8.85%
T200EYV (EYERN.08) 4 19.59% 1969% 19.15% 16.12% 6.68%
Q000EYV (EYSER0.10 5 16.52% 16.72% 16.20% 13.43% 5.08%
1 {E50008 VEYSERN0.2) 10 £.60% £.52% £.17% 4.31% 3.64%
parvalue=0000%% PV {RFETE R T I EE EHP 18 A ~r B R
DfV
fet By EELL FILoss/V 0.5 0.6 0.7 0.8 0.9
HIERN
1800EV (EYEERN0.02) 1 2.03% -11.94% -17.25% -1589% -21.59%
3600EYV (EYERN.04 2 2.08% B884% -1167% -10.19% -11.49%
SA00EV (EYEERN.06) 3 1.41% F3A% B.87% FAT7R 1.58%
T200EYV (EYERN.08) 4 0.89% B3R 7.04% S5.73% 5.58%
Q000EYV (EYSER0.10 5 0.47% 5.51% S5.T71% . 48% 4.35%
1 {E50008 VEYSERN0.2) 10 0.75% 2.72% 2.02% -1.31% 0.39%
parvalue=0000%% PV S ENE ST IR RS A S SIS R
DV
fet By EELL FILoss/V 0.5 0.6 0.7 0.8 0.9
HIERN
1800EV (EYEERN0.02) 1 22.05% 2237% 23.14% 1823% -14.04%
3600EYV (EYERN.04 2 15.58% 16.12% 1666%  16.75% -1.88%
SA00EV (EYEERN.06) 3 12.75% 12.95% 1340% 13.75% 2.36%
T200EYV (EYERN.08) 4 10.68%  10.85% 11.25% 11.57% 3.69%
Q000EYV (EYSER0.10 5 0.13% 9.29% 9.65% 9.92% 3.86%
1 {50008 VEYSERN0.2) 10 4.65% 4.77% 5.03% 4.67% 2.45%

parvalue=0000E HePV bR SR A R B E A SS B R
D/V
e B EE bR fFlLoss/v 0.5 0.6 0.7 0.8 0.9
SRR
18008V ETZEFY0.02) 1 33.50% 3374% 3367%  28.14% 12.09%
2e00EVETEERN.0L 2 27.83% 28.10% 2854% Z4.09% 10.:04%
S400EVETEERY.06) 3 23.46% 2374% 2432% Z20.58% T73%
T200EVETEERY.08) 4 1992% 20.19% 20.79% 17.28% 5.19%
QOO0 SN EYEERN.D S 16.93% 17.19% 17.65% 14.28% 2.05%
1 {E8000 &8 VIEYEER0.2) 10 6.63% 6.53% 5.77% 0.75% 3.37%
parvalue=0000E HebV{REEEETUA R EIFEE A S SR
DfV
e B EE b fH|Loss/V 0.5 06 0.7 0.8 0.9
SRR
18008V ETZEFY0.02) 1 12.83% 16.18% 10.77% -1.90% 2226%
2e00EVETEERN.0L 2 9AZ% 11.68% T66% -1.31% -11.72%
S400EVETEERY.06) 3 T71% 9.33% 5.85% -1.53% 2.11%
T200EVETEERY.08) 4 6.58% AT 4.57% -1.85% £.73%
QOO0EV (EIEERN.D 5 5.74% 6.52% 3.56% -2.20% £.33%
1 {E8000 &8 VIEYEER0.2) 10 3.19% 2.80% 0.43% 4. 26% £.93%
parvalue=0000E HepV-EREERUA R EIFEE A S SR
D/V
faS B E L Hloss/V
SRR
18008V ETZEFY0.02) 1
A600ESVEYEEFN.00 2
S400EVETEERY.06) 3
T200EVETEERY.08) 4
QOO0EV (EIEERN.D 5
1 {E8000 &8 VIEYSER0.2 10
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parvalue=1 {50005,

HPV S HEE ST R EEEE A S B

parvalue=1 {E5000 5

HSPV TSR A R B A Ss B R

D/V

D/V

fEE B EELLFLoss/V 0.5 0.6 0.7 0.3 0.9 fE S B M R L L oss/V 0.5 06 0.7 0.3 0.9
SHERY HER T
18008V (GBI HN.02 1 24.92% 2487% 2455% 2286% 11.84% 18008V (EYSEH4H0.02) 1 25.00% 2531% 26.66% 26.16%  11.55%
3E00EV G HN0.04) 2 2076% 2071% 2050% 1898% @ 972% 3600V IETEER0.00 2 2084%  21.14% 22.50% 22.57% 9.81%
SA00 BV IEYEERN06) 3 17.39% 17.34% 17.14% 1571%  7.62% S400 & VIETEERN.06) 3 17.47%
TROOEVIEYERNOS 4 1455% 1451% 1429% 1289%  564% T2O0EVIETEFN.08) 4 14.63%
O00ESV (EYEEHN0.1) 5 12.10%  1205% 11.83% 1042%  4.00% QD00E YV ISTSEH0.1 5 12.18%
1{Be000 &Y VI ER0.2) 10 3.85%  38l%  362%  2.56%  2.27% 1 {EE000 BV (EYEER0.2) 10 3.87%
parvalue=1 {E50008% HoPV iR IRR R S L AR B R R parvalus=1 {E5000 8 HePV RS ST A S s A 555
D/V DV
e B EELLFLoss/V 0.5 0.6 0.7 0.5 09 fE S B (i AL L osslV 0.5
HFERY EIFERE T
1800 &V ETER0.02) 1 2.75% -11.71% -18.89% 20.52% -35.35% 1300 VST HN0.02) 1 13.55%  17.76% 070 AR 5.03%
3E00EV (SYEHN0.00 2 178% 891% -1341% -1297% -1944% 3600EYV ISUSERH0.00 2 981% 1298% 10.31% 0.67% -18.33%
SAODESV (S HM0.06) 3 1.15% 5% -1060% -1007% -1402% SA00EYV (ST H0.06) 3 798%  1045% 8.43% 2.26% -12.55%
TRO0EVEVER0.08) 4 067% H67%  873%  8.19% _1001% T2O0E VISR 4 6.79% 8.75% T02% 2.31%  S840%
O000EV (EYSEHN0.1) 5 0.27% 597% 7.24% 681% 797% QD00EVISTER0.1) 5 5.01% 7 46% 5.93% 198%  £.54%
1 {Be000 B VIETER0.D) 10 0D89%  341% 332% 0 293% 284% 1 {EE000 B V(ST R0.2) 10 3.31% 3.60% 246%  084%  475%
parvalue=1 {E5000F BsPV £EEEERIIEE BT E A S SER parvalue=1 {25000 HEPV £ EREEALL T B L Sr BE—
DV D/
e B EELL FLoss/V 0.5 0.6 0.7 0.8 0.9 a5 B EE LR Rl oss/v 0.5 0.6 0.7 0.8 0.9
HER HER T
1800EV (GISEH0.02) 1 21.93% 2203% 1685% 4.35% -2008% 1B00EV (ETEH0.02) 1 2171% 2140% 1494% 6£.83% -31.54%
3600 EYVIEVER0.0D 2 15.79% 1585% 1587%  7.13% -14.38% 26008 VIETERN0.04) z 1565% 1553% 15.54% 5.06% -16.61%
SA00 BV IEYEERNL0E) 3 1267% 1271% 12.79%  946%  7.81% SAO0EVIETEEFNE) 3 12.56% 1250% 12.388% 8.55%  9.82%
TRO0EVIETERN.08) 4 1060% 1064%  1069%  9.03%  -2.14% T200EVISTERN.08) 4 1051% 1048%  10.95% 924%  4.95%
Q000EYV (EYER0.1) 5 906%  9.10%  9.13%  8.00% 087% Q000 &V IETEER0.1) 5 8.99% 8.97% 9.48% 8.89%  2.40%
1 {E8000 B VEISERLD 461%  461%  3.59% 1.28% 1 {ES000 BV IEYERI0.2) 10 4.54% 4.56% 5.09% 3.88%  0.16%
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parvalue=1 {E80008% Herv Al SR R R A SR SR B parvalue=1 {S5000E HSPV SRR AT BEEE A Sr B
D/V DV
fete B v EEEMLoss/V 0.5 0.6 0.7 0.8 0.9 fE25 By EEREE Bl oss/V 0.5 0.6 0.7 0.3 09
IR HIFERR Y
1B00EYV (EYSEH0.02) 1 2194%  21.90% 21.95% 2062% 11.19% 1800V IETERN.02) 1 2201% 2227% 2363%  2395% 1105%
3H00EV (BYSE5H0.04) 2 13.22% 18.19% 18.04% 1701%  927% 36008V ETERNOD 2 1829% 18 54% 19.?9% 20. 61% 9, 47%
SA00EVEYEE RN .06) 3 15.25% 15.13% 1498% 139:%  7.39% SAD0 BV (T H0.06) 3 ;
TO0E VSR .08) 4 1257% 1253% 1237% 1130%  5.32% TeO0EV (EYEERY0.08) 4
S000E/VETERN.D 5 10.30%  10.26%  10.08%  897%  365% Q000 &V (EYFFN.L) 5
L ESO00EVIETERND 10 3.09%  3.15% 3.00%  212% 18l% 1 {E80008 V(YR 10
parvalue=1{S80005 HepV R B R (R RS A mr SR B parvalue=1 {S8000 5 HSpv{EiEignl
D/
B EEEFLoss/V 0.5 0.6 0.7 0.8 0.9 fE25 B EEELE FiLoss/V
HIFER( HFERRY
1800 BV IEIEER0.02) 1 317%  -1297% -1926% 26.78% A7T0% 1800V (B2 H0.02) 1 1368%
3600EV (GUSER0.04) 2 2.13%  9380% -138l% -1366% -21.74% 36008V ETSERN.OD 2 980% 1353% 1046% 220% 2088%
S400EN (FYSER0.06) 3 147%  825% -1101% -l064% -15.72% SA00E/VEYEEFA0.06) 3 702% 1092% @ 8.04% 1.25% 14.30%
T200EV (FUSER0.08) 4 097% 7.22%  9.03% 873% -l240% TRO0E/VEYEER0.08) 4 6.72%  9.14%  7.58%  217%  -10M4%
QO00EVET RN 5 0.57% 6£43%  L73%  7.E32% B.96% Q000 SV (EIEFN.L) 5 5.83%  781%  648%  221%  724%
1 {E8000 & VIEYERD.2) 10 065%  3.64% 363% 320% 335% 1 {E8000EV(EYE550.2) 10 335% 383% 298% 018 4.16%
parvalue=1 {58000 HSPVEELE SREE I A SR parvalue=1 {E8000 HpVEELE S EES A R EES
DV D/
fate B EEEfLoss/v 0.5 0.6 0.7 0.8 0.9 fE25 B EEREE Bl oss/V 0.5 0.6 0.7 0.3 09
SR HIFEER Y
1B00EYV (EYSEH0.02) 1 2190% 21.32%  8.10% -l12.17% 33.32% 1800V IETERN.02) 1 21.78% 2080%  656% -14.11% -3545%
3H00EV (BYSE5H0.04) 2 15.77% 1580% 1474%  153% -1790% 36008V ETERNOD 2 1570% 15.70% 1422%  047% -1981%
S400EV (BUSER0.06) 3 1265% 1267% 1259%  602% -10.80% SA00 SV ETSERN.06) 3 1261% 1265% 1299%  465% -12.59%
TO0E VSR .08) 4 1059%  1060% 1057%  7.10%  £69% TeO0EV (EYEERY0.08) 4 1056% 1061%  11.19%  656%  B8.34%
S000E/VETERN.D 5 9.05%  9.06%  9.03%  68l% 2T7T% Q000 &V (EYFFN.L) 5 903%  909%  973% 6.98%  431%
L{ES000EVIETER0.D) 10 4.58%  4.58% 453% 3.27%  L.02% 1 {E80008 V(BRI 10 457%  465%  524% 354% 0.14%
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par=5000,L==

deltak

deltaD

deltaTE
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deltal.C
delta_inwest ins
delta_invest spv
delta_asset spv

par=5000,1.=2

deltaE

deltaD
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